
6405-6
04/16

PK1304 PK1305

PK1501

SW 4

SW 2,5

SW 2

N0957

M5 x 50 mm

2x

3,5 x 9,5 mm

N3505 x

V591

   Ø 3 mm
Ø 4,5 mm

2 x

4,2 x 32 mm

N420

10 x
4,2 x 45 mm

V801

4582.1

B297

V801

N420

4,2 x 32 mm

5 x

2x
M5 x 50 mm

K0438

B-165

K0386

ZF168

K0387

2 x

K1502

N1502

P9554

M4 x 8 mm

4582.2

4 x
K1503

4 x

P9550

DIN 916

2 x M5 x 10

N1505
K1501
P9553

4 x

2 x

2 x P9551

N1501

P9552

PK1501 PK1502
PK1203

2 x ZE5025

PK659

P0365

PK658

ZF5046

K1518K1517

K1522

K1524

K1523

K1525

Einkleben mit Loctite

Einzeln zur
Vormontage beilegen.

Produktübersicht, Typ 0297, 4587

1/2



2/2

6405-6
04/16

PK1304 PK1305

PK1501

SW 4

SW 2,5

SW 2

N0957

M5 x 50 mm

2x

3,5 x 9,5 mm

N3505 x

V591

   Ø 3 mm
Ø 4,5 mm

2 x

4,2 x 32 mm

N420

10 x
4,2 x 45 mm

V801

4582.1

B297

V801

N420

4,2 x 32 mm

5 x

2x
M5 x 50 mm

2 x

K1502

N1502

P9554

M4 x 8 mm

4582.2

4 x
K1503

4 x

P9550

DIN 916

2 x M5 x 10

N1505
K1501
P9553

4 x

2 x
2 x P9551

N1501

P9552

PK1501 PK1502
PK1203

*

2 x ZE5025

PK659

P0365

PK658

ZF5046

K1518K1517

K1522

K1524

K1523

K1525

Einkleben mit Loctite

*

Einzeln zur
Vormontage beilegen.

K0438

B-165

K0386

ZF168

K0387

Produktübersicht, Typ 5290


	Leere Seite



